Government of Jammu and Kashmir OFFICE OF THE SUPERINTENDING ENGINEER HYDRAULIC CIRCLE ANANTNAG/KULGAM **HQ: ANANTNAG**

| N | Allotment Order No: 4 of 2023-24 da | ited: /07/2023 | | |
|-----------|---|---------------------------|---------|-----------------------|
| Name: - | Mohammad Yousuf Dar | 11.3772020 | | |
| Regd. No. | CE R&B K-01/AAY Class/Civil/2016-17 | | | |
| email ID: | daryousuf878@gmail.com | | T | |
| Phone No. | 9596016582 | | | |
| GSTN: | 01AJPPD5918C1ZN | | | |
| PAN. | AJPPD5918C | Advertised Cost: | ₹217.36 | lacs |
| Subject:- | Allotment Order No: 14 of 2023-24 dated: 11 /07/2023 | Alloted Cost : | ₹153.40 | lacs |
| anplect:- | Retrofitting of WSS Siligam Tantraypora including Loving/Fitting of | mine materials are stored | 10701 | wellens connective CD |

Siligam Tantraypora including Laying/Fitting of pipe network, construction of 0.50 lac gallons capacity SR, Sluice Chambers, Chain Link Fencing, Crate Protection Bund, PST, Chowkidar Quarter, R.Wall and Improvements to existing pipe network under JJM. References:

(i)Your tender received in response to e- NIT.No. 04 of 2022-23 issued by Executive Engineer, Jal Shakti, (PHE) Division, Bijbehara vide Tender ID 2022_PHE_167171_11

(ii). Executive Engineer, Jal Shakti, PHE Division, Bijbehara's letter No. PHB/9756 dated 07.10.2022.

(iii). Accord of Administrative Approval issued by the Chief Engineer, Kmr. Jal Shakti, PHE Department Srinagar vide order No. CE/PHE/DB/JJM/349 of 02/2023 dated 21.02.2023 endorsed vide No. CE/PHE/DB/43223-31 dated 21.02.2023.

(iv) Accord of Technical Sanction issued by the Chief Engineer, Kmr. Jal Shakti, PHE Department Srinagar vide order No. CE/PHE/DB/873 of 02/2023 dated 27.02.2023 endorsed vide No. CE/PHE/DB/44506-12 dated 27.02.2023.

(iv). This office letter of Intent No. SE/Hyd/Cors/12946-49 dated 06.03.2023.

For & on behalf of Lt. Governor of J&K , contract for above mentioned job is here by fixed with you on your following quoted rates, terms & conditions:-

| SI.No | Description of Work / Item(s) | No.of Qty | Units | Rate | Amount |
|-------|--|-------------------|-------|-----------|------------------------------|
| 1 | Earth work in bulk excavation by manual means over areas (exceeding 30 cm in depth, 1.5 m in width as well as 10 m2 on plan) including disposal of excavated earth lead upto 50 meters and lift upto 1.5 m, as directed by Engineeric Others. | , | | | |
| 2 | directed by Engineer-in-Charge. All kinds of soil | | | | |
| | | 502.2 | Cum | ₹539.35 | ₹270,861.57 |
| 3 | Ordinary Rock | 472.78 | Cum | ₹855.65 | ₹404,534.21 |
| 4 | Extra for every additional lift of 1.5 m or part thereof in | 412.10 | Cuiii | 1000.00 | (404,554.21 |
| | excavation/banking excavated or stacked material : | 4 | | | |
| 5 | All kinds of soil | 108.6 | Cum | ₹81.65 | ₹8,867.19 |
| 6 | Ordinary Rock | 143.7 | Cum | ₹146.45 | ₹21,044.87 |
| 7 | Earth work in excavation by manual means in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 m in width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed (1 meter from cutting edge) | | | | 121,21,100 |
| 8 | All kinds of soil | 3782.72 | Cum | ₹436.00 1 | ₹4 C40 005 00 |
| 9 | Ordinary Rock | 5558.6 | Cum | ₹841.60 ₺ | ₹1,649,265.92 |
| 10 | Providing and laying of dry stone solling tightly hand packed on horizontal levels. | 88.28 | Cum | ₹1,320.00 | ₹4,678,117.76 ₹116,529.60 |
| 11 | Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with: | The second to the | | | |
| 12 | 1:4:8 (1 cement : 4 coarse sand : 8 graded stone aggregate 40 mm nominal size) | 75.26 | Cum | ₹4,861.62 | ₹365,885.52 |
| 13 | 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size) | 188.63 | Cum | ₹6,465.20 | ₹1,219,530.68 |
| 14 | Providing and laying in position specified grade of reinforced cement concrete including curing but excluding the cost of centering, shuttering, finishing and reinforcement. All works upto plinth level | | | | |
| 15 | 1:11/2:3 (1 cement : 11/2 coarse sand : 3 graded stone aggregate 20 mm nominal size) | 80.36 | Cum | ₹7,800.76 | ₹626,869.07 |
| 16 | 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size) | 10.55 | Cum | ₹6,978.68 | ₹73,625.07 |
| 17 | Reinforced cement concrete work in walls (any thickness) including attached pilasters, buttresses, plinth and string courses, fillets, columns, pillars, piers, abutments, posts and struts upto floor five level including curing but excluding cost of centering shuttering, finishing and reinforcement. | | | | |
| 18 | 1:11/2:3 (1 cement : 11/2 coarse sand : 3 graded stone aggregate 20 mm nominal size) | 65.32 | Cum | ₹9,408.14 | ₹614,539.70 |

Tais & Quantities observed.

lead Draftsman

Technical Officer

| 1 | Reinforced cement concrete work in beams, suspended floors, roofs | T | T | T | |
|----|--|--------|----------|---------------|--------------------|
| | | | | 1 | |
| | | | | | |
| | level including curing but excluding the cost of centring, shuttering, finishing and reinforcement with | | | | |
| 20 | 1:1½:3 (1 cement : 1½ coarse sand : 3 graded stone aggregate 20 mm nominal size) | 6.34 | Cum | ₹9,849.35 | ₹62,444.88 |
| 21 | Reinforced cement concrete work in arches, archribs, domes, vaults | | - | 10,010.00 | |
| | shells, folded plate and roofs having slope more than 15° upto floor five level level including curing but excluding the cost of centering, shuttering finishing and reinforcement with: 1:1½:3 (1 cement: 1½ coarse sand: 3 graded stone aggregate 20 mm nominal size) | 12.19 | Cum | ₹10,404.52 | ₹126,831.10 |
| 22 | (11011111di Size) | | | | |
| 22 | Brick work with common burnt clay (non-modular) bricks of class designation 7.5 in | | T | | |
| | foundation and plinth including curing in : | | | 1 1 | |
| 23 | Cement mortar 1:4 (1 cement : 6 coarse sand) | 40.40 | - | | #400 F00 07 |
| 24 | Extra for brick work with common burnt clay bricks/common | 19.19 | Cum | ₹6,802.13 | ₹130,532.87 |
| | portons in superstructure above plinth level linto floor fire level | 15.04 | Cum | ₹1,456.02 | ₹21,898.54 |
| 25 | Foundations, footings, bases of columns etc. for more company | 692.43 | Cam | 1 | ₹181,624.39 |
| 26 | vivalis (any thickness) including attached pilasters, buttresses, plinth and | 092.43 | Sqm | 1202.30 | |
| | Julia codiscs cit | 738.95 | Sqm | ₹573.85 | ₹424,046.46 |
| 27 | Lintel, beams, plinth beams, girders, bressumers and cantilevers | 37.07 | Sqm | ₹502.85 | ₹18,640.65 |
| 28 | odspended hoors, roors, landings, balconies and access plotforms | 57.76 | Sqm | ₹635.60 ₺ | ₹36,712.26 |
| 29 | Luges of slabs and breaks in floors and walls | 51110 | - Oqiii | 1000.00 / | |
| 30 | Under 20 cm wide | 46.08 | Rm | ₹242.30 | ₹11,165.18 |
| 31 | Arches, domes, vaults upto 6 m span | 97.49 | Sqm | ₹2,086.80 | ₹203,442.13 |
| 32 | Extra for arches, domes, vaults exceeding 6 m span | 97.49 | Sqm | ₹1,008.45 | ₹98,313.79 |
| 33 | Extra for shuttering in circular work (20% of respective contains and | 01110 | | 11,000.70 | 100,100 |
| 34 | Chatering items) | | | 1 1 | |
| 35 | Foundation Walls | 2.07 | Sqm | ₹52.46 | ₹108.59 |
| 36 | Beams | 40.15 | Sqm | ₹114.77 1 | ₹4,608.02 |
| 37 | | 4.03 | Sqm | ₹100.57 | ₹405.30 |
| 31 | 12mm Cement plaster finished with a floating coat of neat cement of mix: | | | | |
| 38 | 1:3 (1 cement: 3 fine sand) | 850.68 | C=== | 3040.7F | 3000 404 05 |
| 39 | 1:4 (1 cement: 4 fine sand) | | Sqm | ₹343.75 | ₹292,421.25 |
| 40 | 12mm Cement plaster of mix: | 88.7 | Sqm | ₹325.45 🗸 | ₹28,867.42 |
| 41 | 1:4 (1 cement: 4 coarse sand) | 005 | _ | | |
| 42 | 1 : 6 (1 cement : 6 fine sand) | 225 | Sqm | ₹260.05 | ₹54,393.75 |
| - | district Control of the Control of t | 142.29 | Sqm | ₹241.75 | ₹71,870.68 |
| 43 | Cement concrete flooring 1:2:4 (1cement: 2 coarse sand: 4 graded stone aggregate) finished with a floating coat of neat cement including cement slurry and curing complete, but excluding the cost of nosing of steps etc. complete. 50 mm thick with 20mm nominal size stone aggregate. | 34 | Sqm | ₹505.10 ₺ | ₹17,173.40 |
| 44 | Steel reinforcement for R.C.C. work including straightening, cutting, | | | | |
| 45 | bending, placing in position and binding all complete above plinth level Hot rolled deformed bars | 44646 | | | |
| 46 | P/ F of 4 No. M.S lid , 1510 no. MS ventilators, 9 3No. MS Ladders, | 14018 | kg | ₹87.18 € | ₹1,222,089.24 |
| "" | sluice valves / Gate valves required , bends/ tees/ nipples required for | | | | |
| | connecting the structures with the supply/ intake mains incld welding | 1 | JOB | ₹100,000.00 / | ₹100,000.00 |
| | charges if required at site complete job | | | 1 | |
| 47 | P/ M of water proofing compound to cement concrete @ 1kg/50 kg 0f | E44.0 | The same | | |
| | cement. | 511.2 | kg | ₹57.90 | ₹29,598.48 |
| 48 | Structural steel work in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete. (Welded) | 2145 | kg | ₹102.14 | ₹219,090.30 |
| 49 | Structural steel work in single section, fixed with or without connecting plate, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete. | 6147 | kg | ₹91.03 £ | ₹559,561.41 |
| 50 | Providing and fixing G.I. chain link fabric fencing of required width in mesh size 50x50 mm including strengthening with 2 mm dia wire or nuts, bolts and washers as required complete as per the direction of | 450 | Sqm | ₹806.85 🖈 | ₹363 003 E0 |
| | Engineer-incharge. Made of G.I. wire of dia 4 mm | 700 | Sqiii | 1000.00 X | ₹363,082.50 |

aus of Suarhtin checker?

Technical Officer

Superintending Engineer

Head Draftsman

| oviding corrugated G. S. sheet roofing including vertical/curved | | | | |
|--|---------|--------|-------------|---------------|
| | | | | |
| | | | 1 1 | |
| | | | 1 1 | |
| d two coats of approved paint on overlapping of sheets complete | | | 1 1 | |
| oto any pitch in horizontal/vertical or curved surface) excluding the st of purlins, rafters and trusses and including cutting to size and | | | 1 | |
| | | | | |
| 3 mm thick with zinc coating not less than 275 gram/m2 | | | l . | |
| oviding ridges or hips of width 60cm and 2/5 gram/m2 | 65.19 | Sqm | ₹951.80 🛝 | ₹62,047.84 |
| widing ridges or hips of width 60cm overall width plain G.S. sheets | | | 1001.00 / | (02,047.04 |
| d with polymer coated J. or L hooks, bolts and nuts 8mm dia G.I. oper and bitumen washers complete. | 20.00 | - | | |
| 3 mm thick with zinc coating not less than 275 gram/m2 | 22.88 | Sqm | ₹691.35 | ₹15,818.09 |
| viding and fixing plained eaves boarding. 2nd class kail wood | | | 1 4 | |
| x32 mm (nominal size) | 20.5 | | | |
| viding and fixing of 12 mm thick Ply Board soffit along with | 29.5 | Meter | ₹693.90 | ₹20,470.05 |
| porting of First Class Popular wooden ballies | 40.01 | | 1 | |
| viding wood work in frames of the | 17.74 | Sqm | ₹850.00 ₺ | ₹15,079.00 |
| viding wood work in frames of doors, windows, clerestory windows other frames, wrought framed and found in the control of the | | _ | | |
| other frames, wrought framed and fixed in position with hold fast | | | 1 1 | |
| | | | | |
| e paid for separately): | | | | |
| class kall wood | 0.74 | - | | |
| class kail wood (35 MM THICK) | 0.71 | Cum | ₹106,894.15 | ₹75,894.85 |
| class kail wood (35 MM THICK) | 7.03 | sqm | ₹3,093.80 | ₹21,749.41 |
| riding and fixing wire gauge show | 12.46 | Sqm | ₹3,726.05 | ₹46,426.58 |
| riding and fixing wire gauze shutters using galvanized M.S. wire | | -4 | 15,7 20.00 | 140,420.00 |
| the of average width for aperture 1.4 mm in both directions with wire a. 0.63 mm for doors, windows and elections with wire | 1 | | | |
| a. 0.63 mm for doors, windows and clerestory windows with list sed M.S. pressed but hinges brook ferriestory windows with ISI | | | 1 | |
| ked M.S. pressed butt hinges bright finished of required size with assary screws as per direction of Engineers. | 8.55 | Sqm | ₹3,651.85 | ₹31,223.32 |
| essary screws as per direction of Engineer-in-charge : | | | L | , |
| | 1 | | | |
| iding and fixing panelling or panelling and glazing in panelled or | | - | | |
| elled and glazed shutters for doors, windows and clerestory ows (Area of opening for possible) | 1 | | | |
| ows (Area of opening for panel inserts excluding portion inside | | | | |
| | 3.19 | Cam | ₹0.504.75 Å | 37,000,50 |
| glazed shutters 25 mm to 40 mm thick. | 3.19 | Sqm | ₹2,501.75 | ₹7,980.58 |
| Class Kall Wood | | | • | |
| ting with synthetic operations in | | | | |
| ting with synthetic enamel paint of approved brand and ufacture to give an even shade. | | | | |
| or more coats on new work | | | | |
| of more coats on new work | 630 | Sqm | ₹121.95 ₺ | ₹76 000 E0 |
| iding and applying white cement based putty of specified thickness, | | Oqiii | (121.93) | ₹76,828.50 |
| | | | | |
| and duringe even and strippin complete | 79.16 | Sqm | ₹129.50 🖠 | ₹10,251.22 |
| II UNICK | | | 74 | (10,201.22 |
| of 1st quality ceramic glazed tiles confirming to IS: 13753 of | | 1 | | |
| Morris trickliess Stilli of approved make like NITCO | | | | |
| NT,SOMANY,KAJARIA or equivalent make in all colour, shades | | | | |
| ot bergandy, bottle green, black of any size as approved by Err. | | 1 1 | | |
| rge in skirting, risers of stope and deduce as approved by Err. | 11.88 | Sam. | ¥1 104 05 ¥ | |
| rge in skirting, risers of steps and dados over 12mm thick bed of | 11.00 | Sqm | ₹1,161.05 | ₹13,793.27 |
| ent mortor 1:3 (1 cement, 3 coarse samd) and jointing with grey | | | | |
| ant slurry @ 3.30 Kgs/SM including pointing in white cement mixed | | | | |
| orginent of matching shade complete. | | | | |
| ding and laying Ceramic glazed floor tiles 300x300 mm (thickness | | | | |
| specified by the manufacturers) of 1st quality conforming to IS. | | | | |
| 2 of approved make, laid on 20 mm thick bed of cement mortar 1.4 | | | | |
| ment : 4 coarse sand) including pointing the joints with white | 3.06 | SM | ₹1,115.80 🖈 | ₹3,414.35 |
| nt and matching pigment etc., complete. | | | 74 | 10,414.33 |
| colours, shades, except White, Ivory, Fume Red Brown | | | | |
| available executed conth (available available executed conth (available executed conth (available executed conth (available executed execu | | | | |
| available excavted earth (excld. rock) in trenches plinth sides of | | | | |
| ation etc. in layers not exceeding 20 cm in depth consolidating | 9176 99 | | 7,00 1 | |
| deposited layer by ramming & watering lead upto 50 m, & lift upto | 8176.22 | Cum | ₹198.70 🔏 | ₹1,624,614.91 |
| | | | | 1 |
| in position centrifugally cast (spun) iron S&S or flanged pipes | | | | |
| ding cost of pipe) | 1546 | Qtls | ₹245.55 | ₹379,620.30 |
| ling push-on-joints to Centrifugally (Spun) Cast Iron Pipes or | | | " | 10.01020.00 |
| e Iron Pipes including testing of joints and including the cost of | | | | |
| r gasket, | | | | |
| ım dia | | | | |
| iii ula | 76 | Joints | ₹259.00 | ₹19,684.00 |
| ım dia | | 001110 | 1200.00 | (19,004.00 |
| iii dia | 573 | Joints | ₹213.00 | ₹122 040 00 |
| ım dia | | -50 | 12.0.00 | ₹122,049.00 |
| | 382 | Joints | ₹89.70 | ₹34,265.40 |
| n dia | | | 1 | 104,200.40 |
| u had. | 573 | Joints | ₹80.00 ~ | ₹45.840.00 |
| 4 | | | | 10.00 |
| | | 573 | 573 Joints | 100,70 |

Head Draftsman

Technical Officer

| 1 | 15 mm dia. G.I. pipes | 3500 | Mtr. | ₹20.25 | ₹70,875.00 |
|----------|---|--------|-------|-------------|-------------|
| 15 | 20 mm dia. G.I. pipes | 5330 | Mtr. | ₹20.25 1 | ₹107,932.50 |
| 76 | 25 mm dia. G.I. pipes | 6350 | Mtr. | ₹30.65 | ₹194,627.50 |
| 77 | 40 mm dia. G.I. pipes | 4200 | Mtr. | ₹40.80 | ₹171,360,00 |
| 78 | 50 mm dia. G.I. pipes | 3000 | Mtr. | ₹40.80 | ₹122,400.00 |
| 79 | P/f o f MS flanges to the G I pipe , including cost of flanges, welding charges and L/F charges complete. | - 5555 | 100. | (40.00 | (122,400.00 |
| 80 | 65 mm dia GI pipe | 672 | Pairs | ₹1,200.00 / | ₹806,400.00 |
| 81 82 | Providing / fixing of D.I/G.I bends ,Tees, Unions, Elbows, Nipples etc. 250 mm dia D.I bends/tees | | | 11,20000 | (000)10010 |
| 83 | 100 mm dia D.I bends/tees | 6.00 | No. | ₹3,000.00 | ₹18,000.00 |
| 84 | 80 mm dia Di bends / tees | 9.00 | No. | ₹1,500.00 | ₹13,500.00 |
| | | 8 | No. | ₹1,300.00 | ₹10,400.00 |
| 85 | 200 mm dia DI bends/tees | 8.00 | No. | ₹2,500.00 | ₹20,000.00 |
| 86 | 65 mm dia GI bends/ tees | | 110. | 1 | |
| 87 | 50 mm dia G.I bends/ tees | 12.00 | No. | ₹900.00 | ₹10,800.00 |
| | 40 mm dia G.I unions | 16 | No. | ₹800.00 | ₹12,800.00 |
| | | 10.00 | No. | ₹400.00 | ₹4,000.00 |
| | 50 mm dia unions | 12.00 | No. | ₹500.00 | ₹6,000.00 |
| 90 | 65 mm dia unions | 20.00 | No. | ₹650.00 | ₹13,000.00 |
| 91 | 25 mm dia G.I unions | 60 | No. | ₹300.00 🏃 | ₹18,000.00 |
| 92 | 20/ 15 mm GI unions | 55.00 | No. | ₹250.00 | |
| 93 | 25/20/ 15 mm tees | | | | ₹13,750.00 |
| 94 | 40/25/20 mm elbows | 100.00 | No. | ₹240.00 | ₹24,000.00 |
| 95 | Enhancetion Of MC hands Associated | 85 | No. | ₹200.00 ₽ | ₹17,000.00 |
| | Fabrication Of MS bends , tees, Unions etc complete Job | 150.00 | Kg | ₹700.00 | ₹105,000.00 |
| ľ | Dismantling G.I. pipes (external work) including excavation and refilling trenches after taking out the pipes, manually/by mechanical means including stacking of pipes within 50 meters lead as per direction of Engineer-in-charge: | | | | |
| 97 | 15 mm to 40 mm nominal bore. | 1100 | Rmt | ₹99.75 | ₹109,725.00 |
| 98 | Above 40 mm nominal bore | 700.00 | Rmt | ₹110.65 | ₹77,455.00 |
| | Dry random rubble masonry with hard stone in foundation and plinth: With bond stone. | 15.9 | Cum | ₹2,497.50 | ₹39,710.25 |
| | Pointing on stone work with cement mortar 1 : 3 (1 cement : 3 fine sand) Flush/Ruled Pointing | 18.53 | Sqm | ₹270.80 | ₹5,017.92 |
| l'i | Providing and fixing kitchen sink with C.I. brackets, C.P. brass chain with rubber plug, 40 mm C.P. brass waste complete, including painting the fittings and brackets, cutting and making good the walls wherever required. White glazed fire clay kitchen sink of size 600x450x250 mm | 1.00 | No. | ₹4,374.95 | ₹4,374.95 |
| 102 | Providing and fixing P.V.C. waste pipe for sink or wash basin including P.V.C waste fittings complete: Flexible pipe, 40 mm dia | 1 | No. | ₹144.55 | ₹144.55 |
| | Providing and fixing of PVC/CP sanitary fittings whatever is required at site (Complete Job) | 1.00 | JOB | ₹25,000.00 | ₹25,000.00 |
| 104 [| Distempering with 1st quality acrylic distemper, having VOC (Volatile Organic Compound) content less than 50 grams/ liter, of approved orand and manufacture, including applying additional coats wherever required, to achieve even shade and colour. Two coats | 79.16 | Sqm | ₹78.65 | ₹6,225.93 |
| 105 | Finishing walls with water proofing cement paint of required shade on New work (two or more coats applied @ 3.84 kg/10sqm) | 66.82 | Sqm | ₹91.80 | ₹6,134.08 |
| 106 | Painting wood work with deluxe multi surface paint of required shade. Two or more coats applied @ 0.90litre/10sqm over an under coat of | 38.46 | Sqm | ₹125.50 | ₹4,826.73 |

aus Quantito

Head Oraftsman

Technical Officer

| | falumbing / Electrification/ Iron Crill Association | | | | | |
|----------|--|---------------------------|--------------------|--|----------------------------------|--|
| | Fixing of plumbing / Electrification/ Iron Grill to windows including cost of plumbing items/C.P fittings / Conductors/ LED Bulbs/ fans /MCB,etc(Complete Job) | 1.00 | Job | ₹90,000.00 | ₹90,000.00 | |
| 108 | Hand-packing stones in wire-crates; excluding cost of crates and stones | 71.25 | Cum | ₹337.45 | ₹24,043.31 | |
| 109 | Engagement of Laboures for extraction of stones from different | 71,20 | Juni | 1007,40 | 124,010.01 | |
| | along the Nallah including carriage of stones from the extraction site upto the actual site of work by manual means for an average lead of 500 m. | 1186.00 | Lab | ₹691.00 | ₹819,526.00 | |
| 110 | Cost of wire Crates (100 mm x 100 mm Aperture, 4mm dia mild steel wire) including all carriages (H.I+M.T) | 2654.00 | sft | ₹25.00 | ₹66,350.00 | |
| 111 | Finishing walls with textured exterior paint of required shade on New work (two or more coats applied @ 3.28 liter/10sqm) over and including base coat of exterior primer applied @ 2.20kg/10sqm | 1300.00 | Sqm | ₹228.55 🖠 | ₹297,115.00 | |
| 112 | CARRIAGE OF MATERIALS | | | | ₹0.00 | |
| 113 | By Mechanical Transport including loading, unloading and stacking | | | | ₹0.00 | |
| 114 | 250 mm dia D.I / G.I Pipes (35 kms) | 400.00 | Rmt | ₹46.43 』 | ₹18,572.00 | |
| 115 | 200 mm DI pipe(35 Km) | 3000.00 | Rmt | ₹32.67 ₺ | ₹98,010.00 | |
| 116 | 100 mm dia D.I / G.I Pipes (35 kms) | 2000.00 | Rmt | ₹12.04 | ₹24,080.00 | |
| 117 | Below 100 mm G.I Pipes (35 kms) | 66.25 | MT | ₹490.13 | ₹32,471.1 | |
| 118 | Cement and Steel (35 Kms) | 142.98 | MT | ₹490.12 | | |
| 119 | Cement and Steel (37 Kms) | 17.90 | _ | | ₹70,077.36 | |
| 120 | Sand, stone aggregate below 40 mm nominal size (35 Kms) | | MT | ₹507.78 | ₹9,089.26 | |
| 121 | Sand, stone aggregate below 40 mm nominal size (37 kms) | 451.09 | Cum | ₹551.33 / | ₹248,699.45 | |
| 122 | Stone aggregate 40 mm nominal size and above (35 Kms) | 107.13 | Cum | ₹571.26 | ₹61,199.08 | |
| 123 | Stone aggregate 40 mm nominal size and above (35 Kms) | 64.22 | Cum | ₹599.28 | ₹38,485.76 | |
| 124 | Bricks (35 Kms) | 3.51 | Cum | ₹620.87 | ₹2,179,25 | |
| 405 | | 9116 | ./00 | ₹1.46] | ₹13,309.36 | |
| 125 | By Manual Labour including loading, unloading and stacking | | No | 7 | ₹0.00 | |
| 126 | 230 mm dia D.17 G.1 Pipes (400 m) | 400.00 | Des | 704.00 | | |
| 127 | 100 mm dia D.I / G.I Pipes (400 m) | 2000.00 | Rm | ₹31.20 | ₹12,480.00 | |
| 128 | 200 mm dia D.I / G.I Pipes (400 m) | - | Rm | ₹8.40 | ₹16,800.0 | |
| 129 | Below 100 mm G.I Pipes (600 m) | 3000.00 | Rm | ₹17.74 | ₹53,220.0 | |
| 130 | Cement (400 m) | 66.25 | MT | ₹400.68 | ₹26,545.0 | |
| 131 | Cement (200 m) | 67.04 | MT | ₹246.42 | ₹16,520.00 | |
| 132 | Steel (300 m) | 69.26 | MT | ₹175.08 / | ₹12,126.04 | |
| 133 | Steel (200 m) | 5.16 | MT | ₹452.69 | ₹2,335.88 | |
| 134 | Sand, stone aggregate below 40 mm nominal size (400 m) | 17.37 | MT | ₹376.05 | ₹6,531.99 | |
| 135 | Sand, stone aggregate below 40 mm nominal size (200 m) | 275.77 | Cum | ₹529.81 | ₹146,105.70 | |
| 136 | Stone aggregate 40 mm nominal size and above (400 m) | 282.45 | Cum | ₹347.00 | ₹98,010.1 | |
| 139 | Bricks (200 m) | 36.18 | Cum | ₹572.75 🏲 | ₹20,722.10 | |
| 140 | Random Rubble masonry with hard stone in foundation and plinth | 9116.00 | No | ₹0.64 | ₹5,834.24 | |
| 2 | including leveling up with cement concrete 1:6:12 (1 Cement : 6 coarse sand : 12 graded stone aggregate 20mm nominal size) upto plinth level and curing complete with: Cement mortar 1:6 (1 Cement : 6 coarse sand) Providing and laying damp-proof Course 50 mm thick with cement | 38.92 | cum | ₹1,760.57 | ₹68,521.38 | |
| | concrete 1:2:4 (1 cement:2 coarse sand: 4 graded stone aggregate 20 mm nominal size) and curing complete | 22.97 | SM | ₹372.85 £ | ₹8,564.36 | |
| | Add O | . 1 | otal Sc | hedule Value | ₹21,401,628.00 | |
| | Add Quoted/Accepted percentage | -(N | /linus) 7 | | -₹1,500,254.00 | |
| ms & Cor | aditions | | Al | loted Amount | ₹19,901,374.00 | |
| 1 | Crate Protection Bund, PST, Chowkidar Quarter, R. Wall and Ir in the approved DPR and need not to be executed. Hence, cos only for an amount of Rs. 153.40 lacs. | nptt. to ex t has beer | isting F restri | Pipe network a cted to the ap | are not included proved items | |
| 2 | The overall payment under the contract will be restricted to Da | AP/DPR pr | ovisio | 1 0 Do 452 4 | 10 lans | |
| 3 | The overall payment under the contract will be restricted to DAP/DPR provision i.e. Rs. 153.40 lacs This letter of allotment & your tender will constitue a legal contract document and the conditions laid down in the detailed NIT/Form No.25-double will hold good and binding upon you. | | | | | |
| 4 | You have to attend the Divisional/Circle Office along with your enlistment card for drawl of agreement . However non-drawl of agreement will not prevent the contract from being enforced upon you. | | | | | |
| 5 | An amount of Rs. 5,34,150/- (Rupees Five Lac Thirty Four Thousand One Hundred Fifty Only) & 80,000/- (Rupees Eighty Thousand Only) depopsited by you vide TDR No. 711710 dated 07.01.2023 & TDR No. 165381 dated 25.04.2023 respectively issued by JK Bank TP Branch Anantnag are being retained as Performance Security Deposit and shall be released only after successful completion & expiry of DLP of the work. | | | | | |
| 6 | The date of start of work shall be reckeded within any of the work. | | ACISMIN. | | Marie Control | |
| 7 | The date of start of work shall be reckoned within one week from the work shall have to be completed within a period of Sixty (60) mentioned above. | days from | the da | te of issuance | ract allotment. | |
| | () W | MANAGEMENT (NEWS) | let blat | THE PARTY OF THE P | THE PERSON NAMED IN | |

Head Draftsman

Technical Officer

| jú | the executed strictly in asset |
|------|--|
| 1 | The work be executed strictly in accordance with approved proposals & in close supervision of the Engineer I/C of both wings of Civil as well as Mechanical. |
| 9 | After testing and commissioning of work, the bidder will have to make a trial run of the work for a period of 03 months during which the bidder will have to operate and maintain the executed work to the full satisfaction of the |
| 10 | The defects Liability period shall be for a period of 12 Months which shall commence after the successful completion of Trial run. The bidder shall be responsible to make good & remedy at his own expense any defect DLP, the department may extend the DLP for such time as deemed fit for getting the defect rectified subject to a |
| 11 | The bidder shall be responsible for the time and proper setting out of all the works and for the correctness of the positions, levels, dimensions and alignment of all parts of the works and for the provision of all necessary instruments, appliances and labour in connection therewith. |
| 12 | The rates are including the Charges for Submission of progress, Geo-tagged photographs, vediographic record through the professional person before, during & after construction and progress reports in both hard and soft copies. Taking Cross-Sections/ L- Sections by Auto Level / ETS before and after execution. Preparation of work abstract of executed work, preparation of bills besides, the rates quoted/alloted are inclusive of taxes and the taxes viz. GST/Income tax/Cess etc. shall be deducted at source from purely. |
| 13 | All the Cement, R.C.C, Steel, plumbing and other works shall be strictly as per relevant IS Codes, CPHEEO norms/requirements/specifications and normal PWD practices. |
| 14 | You shall be solely responsible for carrying out the mandatory tests required or as decided by Engineer-in-charge for the quality control at your own costs. The cost of conducting all tests shall be borne by the contractor and shall be extra shall be payable on this account, |
| 15 | You have to furnish the confirmatory survey, structural & functional design including geo-technical analysis, soil investigation, and quality control tests done at your level duly vetted by DIQC as per terms & conditions of the NIT. The vetting charges for the design if any are to be borne by you. |
| 16 | The allotted works shall be subject to check by the third party monitoring agency (TPIQM) appointed by the Department. The agency shall check the quality of works executed by the agencies, quality of materials used for construction and quality of machinery installed in each scheme. The TPIQM's role shall be that of an assistant to the Employer's Representative for the purpose of monitoring and evaluation of the performance of the Contract during |
| 17 | Any item of work not included in the BOQ but required for the completion of the work, shall be executed by the contractor, as directed by the Department. Such extra item shall be paid at J&K SSR 2020 rates with allotted appreciation/depreciation of the contractor. In case such item does not figure in J&K SSR 2020, the same shall be paid as per the current market rate analysis, to be approved by the competent authority. |
| 18 | No price escalation will be paid for completion of the work within stipulated time or extended date of completion due to any reason whatsoever. |
| 19 | No extra claim towards any type of tax, freight, etc shall be entertained whatsoever. |
| 20 | No mobilisation advance shall be paid. |
| 21 | Retention money/Security deposit shall be 10% of the contract value. The Security Deposit is to be recovered at the rate of 10% of bill amount from Running Account Bills and shall be released after completion of the defect liability period. |
| 22 | In the event of allottee failing, declining, neglecting or delaying the supplies / works or in the event of any damage occurring or being caused by the allottee or in the event of any default or failure by the allottee in complying with any of the terms and conditions of the contract, the Department shall with or without prejudice to any other remedies available to it under any law for the timebeing enforce in the UT: a) Terminate the contract after 15 days' notice and/or b) Recover the amount of loss caused by damage, failure or default, as may be determined by the department and/or c) Recover the extra cost, if any, involved in allotting contract to other party. and/or d) Impose Liquidated damages on account of delay beyond the schedule completion period to the tune of 0.5% of the delayed portion of contract every week but not exceeding 10% value of the contract. and/or e) Forfeit the performance security and blacklist the firm. |
| 23 | All risks of loss or damage to physical property and of personal injury and death which arise during and in consequence of the performance of the Contract are the responsibility of the Bidder. |
| 24 | Any failure or commission to carry out the provision of the contract shall not give rise to any claim by the department or bidder one against the other if such failure of commission arises from the 'ACT OF GOD' which shall include all natural calamities such as fires, floods, earthquake, hurricane, strikes, riots, embargoes or from any political or other reasons beyond the control of the parties including war, or a state of insurgency. |
| 25 | The bidder shall in connection with the work provide and maintain at his own cost all lights, guards, fencing and watching, when and where necessary or required by the Department for the protection of the work or safety and convenience of the Public etc. |
| Vaus | The state of the s |

Head Draftsman

Technical Officer

| | om the commencement of the work to the completion thereof the same shall be under the bidders charge. The bidder shall be held responsible for and make good any loss or injuries by fire or other causes / theft and shall hold the Government harmless for any claims for injuries to persons or damage to property happening from any neglect, default, want of proper care and misconduct on the part of the bidder, or any of his employees, during the execution of work. The bidder shall be responsible for the compensation if any, to labour under the existing labour laws of the country. | |
|---------------|---|------------------|
| 27' | In the event of the death or insanity or insolvency or imprisonment of the bidder or where the bidder being a partnership or firm becomes dissolved or being corporation goes into liquidation, voluntary or otherwise, the contract may, in the option of the Engineer-in-charge, be terminated by notice in writing posted at the site of the works. | |
| 28 | The damage caused to the work during execution or prior to actual completion of work/handing over of the project before defect liability period due to any natural calamity/human interference, the same shall be got restored/made good by you at your own cost. | |
| 29 | No damage is caused to existing structures like roads, bridges, buildings or other public utilities as a result of construction of this work. Whereever any damage occures to any public/private infrastructure or public utility, the same shall be rectifed/made good by you at your own cost. | 4 |
| 30 | Adequate precaustions be taken for enviornment and social protection besides, all safety practices in vogue be strictly adhered to during execution of work. | |
| 31 | No objection certificate from the concerned regulatory authority may also be sought wherever required. | o France |
| 32 | 2020/Operational guidelines for JJM. | 1706 |
| \$ | Pad Draftsman Technical Officer, Technical Officer, Hydraylic Ciffcle Anantnag/Kulgam | 3-07-23 |
| No. Dated: | SE/Hyd/Cors/_3/10-13 | ision, Bilograph |
| Copy to the | | ision, or |
| 1 | orner Engineer Jai Snakti (PHF) Department Scinesco for L. C. | |
| 2 | District Development Commissioner Anantnag (Chairman District Jal Jeevan Mission) for information. This is with reference to your authorisation issued vide letter No. DDCA/JJM/2022-23/3858-60 dated 30.07.2022 | |
| 3 | Executive Engineer Jal Shakti (PHE) Division Bijbehara for information & necessary action. He will ensure the completion of work within the stipulated time period and strictly in accordance with JJM Guidelines. | |
| 4 | File concerned | |

Tolkalko and

For mymmulis and

13 for muzis

13 for muzis

File concerned.